=_RCl OFF ROAD_X~\

RCI 19+ RAM 1500 Engine Skid Plate Install Guide

2

WOV |PARTNUMBER|  DESCRIPTION  [QTY.
L135MS .25AL
1 |Ram 1500 1
Engine R1
.135MS Ram
2 |1500 Engine 1 Pair 1
Mount R1
Mounting
3 |Plate #1 Hardware (RCI) 1
J35MS R1
4 ’é‘ﬁ'g Speed M10 Speed Clip 1
MI10 X 35mm
5 Flanged Bolt Hardware 7
6 m}? Nylock Hardware 4
7 |3/8 Washer Hardware 11
5/16" Steel
8 IFiat washer Hardware 4
5/16"- Nyloc
9 N Hardware 4
5/16 X1
10 Carriage Bolt Hardware 4
UNLESS OTHERWIEE SPECFIEED: MNAME
DWENSIONS ARE IN INCHES DRAWN €
TOLERAMNCES: SOURCE Hlaeh

FRACTIONAL=0.010

ANGULAR: BEND 20.5

TWO FLACE DECIMAL £ 0015
THREE PLACE DECMAL 2 0010

FROFRIETARY AND CONFIDENTIAL

THE MFOSMATION CONTAMED N THES
DRAWNG & THE SOLE PROPIRTY OF
RO Offroad. ANY

REFRODUCTION IN PART OR AL A
WL

WITHOUT THE WRTTEN PERMISSION OF
RO Offroad 1

PROHIITED,

2

Export Date
7/19/2023

DATE
I

TITLE:

Item Number

BOM

DO NOTSCALE DRAWING

Sku

RCI OFFROAD

Ram 1500 Engine -
Shipping

SCALE: 1:6 WEIGHT:

1

REV

|

SHEET 1 OF 11,



1)

2)
3)

4)

=_RCl OFFROAD_ X~
INSTALLATION STEPS:

**Use hand tools, impact wrenches may cause damage if over torqued.**

Begin by unpacking and removing all components and hardware. Please verify that all
hardware and mounting components are present. Reference your original order invoice and
verify all items are accounted for.
If applicable, remove the factory dynamic air dam and engine skid plate.
Loosely secure the engine skid plate mounts to the engine skid plate using the four(4) included
3/8” carriage bolts, washers, and nuts.

a. The engine skid plate mounts should face out and towards the rear.
Lift the engine skid plate and engine skid plate mount assembly up to the vehicle just forward
of the front-most crossmember.

a. Ensure that the engine skid mounts are touching the rear of the vertical members as

shown.

Fig 1. Bottom view showing install orientation and location



=_RCIl OFFROAD_ X\

Fig 2. Bottom view showing install orientation and location of skid plate mounts to vehicle vertical members.

5) Loosely secure the skid plate to the crossmember by installing two(2) of the included M10 bolts
and 3/8” washers in the two mounting points on the passenger side.



=_RCIl OFFROAD_ X\

Fig 3. Bottom view showing mounting locations.

6) Reach through the opening in the rear of the crossmember to insert the MP1 and M10 speed
clip assembly. Use one(1) of the included M10 bolts, 3/8” washer, and MP1 assembly to
loosely secure the final mounting point at the rear of the engine skid plate.



=_RCIl OFFROAD_ X\

Fig 5. View from bottom-driver side showing MP1 location

7) Secure the skid plate mounts to the vertical members using the remaining included M10 bolt,
3/8 washers, and M10 nuts through the slots in the rear of the vertical member.

8) Lift the secondary skid plate up to the vehicle frame and slide it forward between the engine
skid plate and the vehicle crossmember.



_RCl OFFROAD_X'x\

D asly

Fig 6. Bottom view showing secondary skid location and orientation

9) Align the secondary skid plate to the secondary vehicle crossmember and loosely secure the
secondary skid plate to the vehicle with the use of two(2) sets of M10 bolts and 3/8” washers.



_RCl OFFROAD_X'x\

Fig 7. Bottom view showing secondary skid plate mounting locations

10) Tighten all hardware.
a. If installing the RCI transmission skid plate, leave the two bolts from step 9 loose.



=_RCIl OFFROAD_ X\

Enjoy your new RCI protection!

Share your new install with us on social media!

We love seeing our products out in the wild!

www.rcimetalworks.com
sales@rcioffroad.com

970-797-3089

REV: 1 9/29/2022

Disclaimer: The products sold by RClI Metalworks are intended for off —road use only, should not be modified, and are for use only on the vehicle(s) specifically
stated. RCl Metalworks makes no warranties express or implied, including of fitness for a particular purpose or merchantability. RCI Metalworks will not be
liable for any damages arising out of the use or misuse of its products. It is the customers' responsibility to ensure the products are safely and properly attached
to the vehicle, and all products should be installed by trained professionals. We strive to maintain extremely high quality standards; however, all RCI
Metalworks products are individually handcrafted, may vary slightly, and may contain minor imperfections. Due to the nature of raw aluminum, the material
may have minor scratches and other blemishes caused by the manufacturing process, especially on the back side of product. RCI Metalworks is constantly
seeking to improve its products and reserves the right to make changes to any product.


mailto:sales@rcioffroad.com

